hraftny - (W’%

A s
|2 Cy & 7N R4 x4 L\l > 75> i
I =2 ﬁ 4{, => XXl
) i ) T- X
e .ZETE-/@%Q%LMX%
lé ) \}; KE—\Q@ - ’“\&\W@ L(J XKKX _ sz)c»x%
(a=6) («=2) 2 X5
7/ - 3)(]'7)74& };/_1)(“?
\ /,,,/ V;&,@Wﬁ% —3\/&,27? - sen -8R > i
\\\ // aaq o2 —’—‘3 3
N I Taa 'f{:;
D
C 7€ > s RUSD B0
| e N
\ %r,ﬁ b 9> )
R 11 18(% _ 0
\\ 0/6/ S —

) s _ 1
_onElEl SRR %7‘3?”;;“9@1 RG> L e FBA,

>MBE (G BB BLEET) D ABLIM -)E@é%ﬂv~ Al%@fzj-ﬁ
7575"%” RE = 2B ,L6=% )Wﬁ@\ bt 4B

JZ%*“"""’(?)/P\: 20 /k:@:)l \
b b =D &= hART= hx3= e | OKET

-
o

ot 2
> 2
14

2. D,

G (/P{;_ﬁ) cc b 153D
4, BDL ACCh = BDL PC
LN B REB/ G s AR DB S PR

L] 20 ¢ e, phg féﬁ%:)a,g}n%@ 2> 0% b4 5
D. Fc S%M =>fL§%A;BIC'D) ;>LCPCI =_> 4&04347’03

\ BI
I




IS. '
%ﬁ %\ﬁ) 1 & ha }Wy 3 Jﬂﬁ%m

g y
R fa= 848288 DS
A co
Iy - = it'= &R
2
V4 o orReT, LB A 3 32,
/ é/ S A =T 3
/ B --------------------- \/ B,

= 1 SENG = 2K 3 < oht¥

Wa, ks ks & 2 sy
> eis e ARl = ‘ = w3 B

7 . cz, //IQZ7 ) PW: = kgL D]’Z>0f// T
W\ FD Af‘_t»::\/\\ D B. CF=>45 AT 6}%(&@%@4@
C .

I 117 @ﬂﬂ]lé’f”agw%@%

1) 10 ki LE0 3| e, ol ds” B T

D. ;§A/7E 1 [\ D = V}y '4[/,0%70\ 70%?0 Fé/ﬁb }%LbD

Dlw= P> F At=H DV-% 1] %-5%

b a, TREeECr2opel, s
oY ?n G LB gL D <> o L5 fp=> PP AD

2 % . B.Ci LB8
z’ﬂb‘zl'- Df’ ),B/C( =| k? 45

e acélo’fi»ﬁﬂ )D/ASAT% =>Z fPr=0 W—/i 7',:‘

o ’&% fnj 772/] s



